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PC: More Practice Using Matrices to Solve Linear Systems

1-6 @ State the dimension of the matrix.

2. A
-1 5 40 12]
1. |0 -1 z.{ } 3.{_
s i 02 11 3 35
=2 10
4. (]) 5.[1 4 7) 6. [0 J

7-14 © A matrix is given.

(a) Determine whether the matrix is in row-echelon form.
(b) Determine whether the matrix is in reduced row-echelon
form.

(c) Write the system of equations for which the given matrix is
the augmented matrix.

1 0 -3 1 3 -3
7. ;
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sto (1 0 =7 0
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L() 0 0 0 L0 0 0 1
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Ms. Loughran

15-24 = The system of linear equations has a unigue solution.
Find the solution using Gaussian elimination or Gauss-Jordan
elimination.

x=2y+ z=1 x+ y+6z=3

15. yt+2z=35 16. ¢x+ y+3z=3
x+ y+3= x+2y+4:=7
x+ y+ z=2 x+ y+ z= 4

17. 42x =3y + 2: =4 18, s—x+ 2y +3z= 17
4x + y—-3;=l 2y — ¥y = =7

y+:z= 4
x+ y = 4

x+2y—z=-=-2
19. X +z= 0 20.
2x— y—z=-3 3x4+3y—-—z=10

21. 4 2x, — xm=—2 22 32— x+ x3= 6

3+ 5x + 26 = 22 3y, — 2x; +4x; =11

.‘.'[+212_ X5 = 9 {21]"’ X2 =
) 104 + 10y — 202 =
2= j\ = _: j l:‘ 24,

U Ay —Ie s 0 —5x+ 3y — 1z =
v - y- =4

150 + 20y + 30z = =2



